Unit 3 Problems I
1.) If a person moved a 85 N box 3 m, how much work was done?

2.) How can you convert your weight in pounds to force?

3.) How is power calculated?

4.) How could you find the center of gravity of the two forks that were balancing on two tooth picks?

5.) If you were paddling a canoe 3 m/s up stream and the current was moving 6 m/s, what would the resultant be?

6.) What are the units for power?

7.) If a person moved a mass of 80 N, 250 m in 125 s , how much power was used?

8.) If a car traveling 25 m/s at 45 degrees collided with another car traveling 56 m/s at 95 degrees, what would the resultant of the two cars after the collision?

